Captura Ethernet de la aplicación TFTP con el Cisco 2500
Record #22      (From Hub To Node) Captured on 03.24.06 at 19:26:20.165054299 Length =    69

------------  ETHER Header  ------------

ETHER: Destination: Edimax-37-E6-53 (00-00-B4-37-E6-53)

ETHER: Source: Cisco-09-A1-44 (00-00-0C-09-A1-44)

ETHER: Protocol: IP

ETHER: FCS: AC1636BD

------------  IP Header  ------------

IP: Version = 4

IP: Header length = 20

IP: Type of service = 0

IP:     000. .... Precedence = Routine(0)

IP:     ...0 .... Delay = Normal (0)

IP:     .... 0... Throughput = Normal (0)

IP:     .... .0.. Reliability = Normal (0)

IP: Packet length = 51

IP: Id = 0

IP: Fragmentation Info = 0x0000

IP:     .0.. ....  .... .... Don't Fragment Bit = FALSE

IP:     ..0. ....  .... .... More Fragments Bit = FALSE

IP:     ...0 0000  0000 0000 Fragment offset = 0

IP: Time to live = 255

IP: Protocol = UDP (17)

IP: Header checksum = F2CC

IP: Source address = 128.100.100.30

IP: Destination address = 128.100.100.6

------------  UDP Header  ------------

UDP: Source port = 41360

UDP: Destination port = tftp (69)

UDP: Length = 31

UDP: Checksum = D3F1

------------  TFTP Header  ------------

TFTP: Opcode = Write request (2)

TFTP: Filename = c2500-confg

TFTP: Mode = netascii

Record #23      (From Hub To Node) Captured on 03.24.06 at 19:26:20.202496699 Length =    64

------------  ETHER Header  ------------

ETHER: Destination: Cisco-09-A1-44 (00-00-0C-09-A1-44)

ETHER: Source: Edimax-37-E6-53 (00-00-B4-37-E6-53)

ETHER: Protocol: IP

ETHER: FCS: 3447CE55

------------  IP Header  ------------

IP: Version = 4

IP: Header length = 20

IP: Type of service = 0

IP:     000. .... Precedence = Routine(0)

IP:     ...0 .... Delay = Normal (0)

IP:     .... 0... Throughput = Normal (0)

IP:     .... .0.. Reliability = Normal (0)

IP: Packet length = 32

IP: Id = 86

IP: Fragmentation Info = 0x0000

IP:     .0.. ....  .... .... Don't Fragment Bit = FALSE

IP:     ..0. ....  .... .... More Fragments Bit = FALSE

IP:     ...0 0000  0000 0000 Fragment offset = 0

IP: Time to live = 64

IP: Protocol = UDP (17)

IP: Header checksum = B15A

IP: Source address = 128.100.100.6

IP: Destination address = 128.100.100.30

------------  UDP Header  ------------

UDP: Source port = 1026

UDP: Destination port = 41360

UDP: Length = 12

UDP: Checksum = 9152

------------  TFTP Header  ------------

TFTP: Opcode = Ack  (4)

TFTP: Block number = 0

Record #24      (From Hub To Node) Captured on 03.24.06 at 19:26:20.206001199 Length =   562

 ------------  ETHER Header  ------------

ETHER: Destination: Edimax-37-E6-53 (00-00-B4-37-E6-53)

ETHER: Source: Cisco-09-A1-44 (00-00-0C-09-A1-44)

ETHER: Protocol: IP

ETHER: FCS: 676B605D

------------  IP Header  ------------

IP: Version = 4

IP: Header length = 20

IP: Type of service = 0

IP:     000. .... Precedence = Routine(0)

IP:     ...0 .... Delay = Normal (0)

IP:     .... 0... Throughput = Normal (0)

IP:     .... .0.. Reliability = Normal (0)

IP: Packet length = 544

IP: Id = 1

IP: Fragmentation Info = 0x0000

IP:     .0.. ....  .... .... Don't Fragment Bit = FALSE

IP:     ..0. ....  .... .... More Fragments Bit = FALSE

IP:     ...0 0000  0000 0000 Fragment offset = 0

IP: Time to live = 255

IP: Protocol = UDP (17)

IP: Header checksum = F0DE

IP: Source address = 128.100.100.30

IP: Destination address = 128.100.100.6

------------  UDP Header  ------------

UDP: Source port = 41360

UDP: Destination port = 1026

UDP: Length = 524

UDP: Checksum = 6324

------------  TFTP Header  ------------

TFTP: Opcode = Data (3)

TFTP: Block number = 1

TFTP: 512 bytes of data

Record #25      (From Hub To Node) Captured on 03.24.06 at 19:26:20.207027799 Length =    64

 ------------  ETHER Header  ------------

ETHER: Destination: Cisco-09-A1-44 (00-00-0C-09-A1-44)

ETHER: Source: Edimax-37-E6-53 (00-00-B4-37-E6-53)

ETHER: Protocol: IP

ETHER: FCS: CDB4A72C

------------  IP Header  ------------

IP: Version = 4

IP: Header length = 20

IP: Type of service = 0

IP:     000. .... Precedence = Routine(0)

IP:     ...0 .... Delay = Normal (0)

IP:     .... 0... Throughput = Normal (0)

IP:     .... .0.. Reliability = Normal (0)

IP: Packet length = 32

IP: Id = 87

IP: Fragmentation Info = 0x0000

IP:     .0.. ....  .... .... Don't Fragment Bit = FALSE

IP:     ..0. ....  .... .... More Fragments Bit = FALSE

IP:     ...0 0000  0000 0000 Fragment offset = 0

IP: Time to live = 64

IP: Protocol = UDP (17)

IP: Header checksum = B159

IP: Source address = 128.100.100.6

IP: Destination address = 128.100.100.30

------------  UDP Header  ------------

UDP: Source port = 1026

UDP: Destination port = 41360

UDP: Length = 12

UDP: Checksum = 9151

------------  TFTP Header  ------------

TFTP: Opcode = Ack  (4)

TFTP: Block number = 1

Record #26      (From Hub To Node) Captured on 03.24.06 at 19:26:20.210087899 Length =   562

------------  ETHER Header  ------------

ETHER: Destination: Edimax-37-E6-53 (00-00-B4-37-E6-53)

ETHER: Source: Cisco-09-A1-44 (00-00-0C-09-A1-44)

ETHER: Protocol: IP

ETHER: FCS: 01C659C6

------------  IP Header  ------------

IP: Version = 4

IP: Header length = 20

IP: Type of service = 0

IP:     000. .... Precedence = Routine(0)

IP:     ...0 .... Delay = Normal (0)

IP:     .... 0... Throughput = Normal (0)

IP:     .... .0.. Reliability = Normal (0)

IP: Packet length = 544

IP: Id = 2

IP: Fragmentation Info = 0x0000

IP:     .0.. ....  .... .... Don't Fragment Bit = FALSE

IP:     ..0. ....  .... .... More Fragments Bit = FALSE

IP:     ...0 0000  0000 0000 Fragment offset = 0

IP: Time to live = 255

IP: Protocol = UDP (17)

IP: Header checksum = F0DD

IP: Source address = 128.100.100.30

IP: Destination address = 128.100.100.6

------------  UDP Header  ------------

UDP: Source port = 41360

UDP: Destination port = 1026

UDP: Length = 524

UDP: Checksum = C39B

------------  TFTP Header  ------------

TFTP: Opcode = Data (3)

TFTP: Block number = 2

TFTP: 512 bytes of data

Record #27      (From Hub To Node) Captured on 03.24.06 at 19:26:20.212313099 Length =    64

------------  ETHER Header  ------------

ETHER: Destination: Cisco-09-A1-44 (00-00-0C-09-A1-44)

ETHER: Source: Edimax-37-E6-53 (00-00-B4-37-E6-53)

ETHER: Protocol: IP

ETHER: FCS: 9F91C19F

------------  IP Header  ------------

IP: Version = 4

IP: Header length = 20

IP: Type of service = 0

IP:     000. .... Precedence = Routine(0)

IP:     ...0 .... Delay = Normal (0)

IP:     .... 0... Throughput = Normal (0)

IP:     .... .0.. Reliability = Normal (0)

IP: Packet length = 32

IP: Id = 88

IP: Fragmentation Info = 0x0000

IP:     .0.. ....  .... .... Don't Fragment Bit = FALSE

IP:     ..0. ....  .... .... More Fragments Bit = FALSE

IP:     ...0 0000  0000 0000 Fragment offset = 0

IP: Time to live = 64

IP: Protocol = UDP (17)

IP: Header checksum = B158

IP: Source address = 128.100.100.6

IP: Destination address = 128.100.100.30

------------  UDP Header  ------------

UDP: Source port = 1026

UDP: Destination port = 41360

UDP: Length = 12

UDP: Checksum = 9150

------------  TFTP Header  ------------

TFTP: Opcode = Ack  (4)

TFTP: Block number = 2

Record #28      (From Hub To Node) Captured on 03.24.06 at 19:26:20.214193699 Length =   562

------------  ETHER Header  ------------

ETHER: Destination: Edimax-37-E6-53 (00-00-B4-37-E6-53)

ETHER: Source: Cisco-09-A1-44 (00-00-0C-09-A1-44)

ETHER: Protocol: IP

ETHER: FCS: 107E8195

------------  IP Header  ------------

IP: Version = 4

IP: Header length = 20

IP: Type of service = 0

IP:     000. .... Precedence = Routine(0)

IP:     ...0 .... Delay = Normal (0)

IP:     .... 0... Throughput = Normal (0)

IP:     .... .0.. Reliability = Normal (0)

IP: Packet length = 544

IP: Id = 3

IP: Fragmentation Info = 0x0000

IP:     .0.. ....  .... .... Don't Fragment Bit = FALSE

IP:     ..0. ....  .... .... More Fragments Bit = FALSE

IP:     ...0 0000  0000 0000 Fragment offset = 0

IP: Time to live = 255

IP: Protocol = UDP (17)

IP: Header checksum = F0DC

IP: Source address = 128.100.100.30

IP: Destination address = 128.100.100.6

------------  UDP Header  ------------

UDP: Source port = 41360

UDP: Destination port = 1026

UDP: Length = 524

UDP: Checksum = 423D

------------  TFTP Header  ------------

TFTP: Opcode = Data (3)

TFTP: Block number = 3

TFTP: 512 bytes of data

Record #29      (From Hub To Node) Captured on 03.24.06 at 19:26:20.215263199 Length =    64

 ------------  ETHER Header  ------------

ETHER: Destination: Cisco-09-A1-44 (00-00-0C-09-A1-44)

ETHER: Source: Edimax-37-E6-53 (00-00-B4-37-E6-53)

ETHER: Protocol: IP

ETHER: FCS: ACBBFC57

------------  IP Header  ------------

IP: Version = 4

IP: Header length = 20

IP: Type of service = 0

IP:     000. .... Precedence = Routine(0)

IP:     ...0 .... Delay = Normal (0)

IP:     .... 0... Throughput = Normal (0)

IP:     .... .0.. Reliability = Normal (0)

IP: Packet length = 32

IP: Id = 89

IP: Fragmentation Info = 0x0000

IP:     .0.. ....  .... .... Don't Fragment Bit = FALSE

IP:     ..0. ....  .... .... More Fragments Bit = FALSE

IP:     ...0 0000  0000 0000 Fragment offset = 0

IP: Time to live = 64

IP: Protocol = UDP (17)

IP: Header checksum = B157

IP: Source address = 128.100.100.6

IP: Destination address = 128.100.100.30

------------  UDP Header  ------------

UDP: Source port = 1026

UDP: Destination port = 41360

UDP: Length = 12

UDP: Checksum = 914F

------------  TFTP Header  ------------

TFTP: Opcode = Ack  (4)

TFTP: Block number = 3

Record #30      (From Hub To Node) Captured on 03.24.06 at 19:26:20.216999199 Length =   562

------------  ETHER Header  ------------

ETHER: Destination: Edimax-37-E6-53 (00-00-B4-37-E6-53)

ETHER: Source: Cisco-09-A1-44 (00-00-0C-09-A1-44)

ETHER: Protocol: IP

ETHER: FCS: 2E05A3A0

------------  IP Header  ------------

IP: Version = 4

IP: Header length = 20

IP: Type of service = 0

IP:     000. .... Precedence = Routine(0)

IP:     ...0 .... Delay = Normal (0)

IP:     .... 0... Throughput = Normal (0)

IP:     .... .0.. Reliability = Normal (0)

IP: Packet length = 544

IP: Id = 4

IP: Fragmentation Info = 0x0000

IP:     .0.. ....  .... .... Don't Fragment Bit = FALSE

IP:     ..0. ....  .... .... More Fragments Bit = FALSE

IP:     ...0 0000  0000 0000 Fragment offset = 0

IP: Time to live = 255

IP: Protocol = UDP (17)

IP: Header checksum = F0DB

IP: Source address = 128.100.100.30

IP: Destination address = 128.100.100.6

------------  UDP Header  ------------

UDP: Source port = 41360

UDP: Destination port = 1026

UDP: Length = 524

UDP: Checksum = 4ABA

------------  TFTP Header  ------------

TFTP: Opcode = Data (3)

TFTP: Block number = 4

TFTP: 512 bytes of data

Record #31      (From Hub To Node) Captured on 03.24.06 at 19:26:20.218084599 Length =    64

------------  ETHER Header  ------------

ETHER: Destination: Cisco-09-A1-44 (00-00-0C-09-A1-44)

ETHER: Source: Edimax-37-E6-53 (00-00-B4-37-E6-53)

ETHER: Protocol: IP

ETHER: FCS: 97292255

------------  IP Header  ------------

IP: Version = 4

IP: Header length = 20

IP: Type of service = 0

IP:     000. .... Precedence = Routine(0)

IP:     ...0 .... Delay = Normal (0)

IP:     .... 0... Throughput = Normal (0)

IP:     .... .0.. Reliability = Normal (0)

IP: Packet length = 32

IP: Id = 8a

IP: Fragmentation Info = 0x0000

IP:     .0.. ....  .... .... Don't Fragment Bit = FALSE

IP:     ..0. ....  .... .... More Fragments Bit = FALSE

IP:     ...0 0000  0000 0000 Fragment offset = 0

IP: Time to live = 64

IP: Protocol = UDP (17)

IP: Header checksum = B156

IP: Source address = 128.100.100.6

IP: Destination address = 128.100.100.30

------------  UDP Header  ------------

UDP: Source port = 1026

UDP: Destination port = 41360

UDP: Length = 12

UDP: Checksum = 914E

------------  TFTP Header  ------------

TFTP: Opcode = Ack  (4)

TFTP: Block number = 4

Record #32      (From Hub To Node) Captured on 03.24.06 at 19:26:20.219824099 Length =   562

------------  ETHER Header  ------------

ETHER: Destination: Edimax-37-E6-53 (00-00-B4-37-E6-53)

ETHER: Source: Cisco-09-A1-44 (00-00-0C-09-A1-44)

ETHER: Protocol: IP

ETHER: FCS: 8092BD22

------------  IP Header  ------------

IP: Version = 4

IP: Header length = 20

IP: Type of service = 0

IP:     000. .... Precedence = Routine(0)

IP:     ...0 .... Delay = Normal (0)

IP:     .... 0... Throughput = Normal (0)

IP:     .... .0.. Reliability = Normal (0)

IP: Packet length = 544

IP: Id = 5

IP: Fragmentation Info = 0x0000

IP:     .0.. ....  .... .... Don't Fragment Bit = FALSE

IP:     ..0. ....  .... .... More Fragments Bit = FALSE

IP:     ...0 0000  0000 0000 Fragment offset = 0

IP: Time to live = 255

IP: Protocol = UDP (17)

IP: Header checksum = F0DA

IP: Source address = 128.100.100.30

IP: Destination address = 128.100.100.6

------------  UDP Header  ------------

UDP: Source port = 41360

UDP: Destination port = 1026

UDP: Length = 524

UDP: Checksum = 30BD

------------  TFTP Header  ------------

TFTP: Opcode = Data (3)

TFTP: Block number = 5

TFTP: 512 bytes of data

Record #33      (From Hub To Node) Captured on 03.24.06 at 19:26:20.220884399 Length =    64

------------  ETHER Header  ------------

ETHER: Destination: Cisco-09-A1-44 (00-00-0C-09-A1-44)

ETHER: Source: Edimax-37-E6-53 (00-00-B4-37-E6-53)

ETHER: Protocol: IP

ETHER: FCS: CE403716

------------  IP Header  ------------

IP: Version = 4

IP: Header length = 20

IP: Type of service = 0

IP:     000. .... Precedence = Routine(0)

IP:     ...0 .... Delay = Normal (0)

IP:     .... 0... Throughput = Normal (0)

IP:     .... .0.. Reliability = Normal (0)

IP: Packet length = 32

IP: Id = 8b

IP: Fragmentation Info = 0x0000

IP:     .0.. ....  .... .... Don't Fragment Bit = FALSE

IP:     ..0. ....  .... .... More Fragments Bit = FALSE

IP:     ...0 0000  0000 0000 Fragment offset = 0

IP: Time to live = 64

IP: Protocol = UDP (17)

IP: Header checksum = B155

IP: Source address = 128.100.100.6

IP: Destination address = 128.100.100.30

------------  UDP Header  ------------

UDP: Source port = 1026

UDP: Destination port = 41360

UDP: Length = 12

UDP: Checksum = 914D

------------  TFTP Header  ------------

TFTP: Opcode = Ack  (4)

TFTP: Block number = 5

Record #34      (From Hub To Node) Captured on 03.24.06 at 19:26:20.222645299 Length =   562

------------  ETHER Header  ------------

ETHER: Destination: Edimax-37-E6-53 (00-00-B4-37-E6-53)

ETHER: Source: Cisco-09-A1-44 (00-00-0C-09-A1-44)

ETHER: Protocol: IP

ETHER: FCS: 153653D3

------------  IP Header  ------------

IP: Version = 4

IP: Header length = 20

IP: Type of service = 0

IP:     000. .... Precedence = Routine(0)

IP:     ...0 .... Delay = Normal (0)

IP:     .... 0... Throughput = Normal (0)

IP:     .... .0.. Reliability = Normal (0)

IP: Packet length = 544

IP: Id = 6

IP: Fragmentation Info = 0x0000

IP:     .0.. ....  .... .... Don't Fragment Bit = FALSE

IP:     ..0. ....  .... .... More Fragments Bit = FALSE

IP:     ...0 0000  0000 0000 Fragment offset = 0

IP: Time to live = 255

IP: Protocol = UDP (17)

IP: Header checksum = F0D9

IP: Source address = 128.100.100.30

IP: Destination address = 128.100.100.6

------------  UDP Header  ------------

UDP: Source port = 41360

UDP: Destination port = 1026

UDP: Length = 524

UDP: Checksum = 305C

------------  TFTP Header  ------------

TFTP: Opcode = Data (3)

TFTP: Block number = 6

TFTP: 512 bytes of data

Record #35      (From Hub To Node) Captured on 03.24.06 at 19:26:20.223729699 Length =    64

------------  ETHER Header  ------------

ETHER: Destination: Cisco-09-A1-44 (00-00-0C-09-A1-44)

ETHER: Source: Edimax-37-E6-53 (00-00-B4-37-E6-53)

ETHER: Protocol: IP

ETHER: FCS: 306355B2

------------  IP Header  ------------

IP: Version = 4

IP: Header length = 20

IP: Type of service = 0

IP:     000. .... Precedence = Routine(0)

IP:     ...0 .... Delay = Normal (0)

IP:     .... 0... Throughput = Normal (0)

IP:     .... .0.. Reliability = Normal (0)

IP: Packet length = 32

IP: Id = 8c

IP: Fragmentation Info = 0x0000

IP:     .0.. ....  .... .... Don't Fragment Bit = FALSE

IP:     ..0. ....  .... .... More Fragments Bit = FALSE

IP:     ...0 0000  0000 0000 Fragment offset = 0

IP: Time to live = 64

IP: Protocol = UDP (17)

IP: Header checksum = B154

IP: Source address = 128.100.100.6

IP: Destination address = 128.100.100.30

------------  UDP Header  ------------

UDP: Source port = 1026

UDP: Destination port = 41360

UDP: Length = 12

UDP: Checksum = 914C

------------  TFTP Header  ------------

TFTP: Opcode = Ack  (4)

TFTP: Block number = 6

Record #36      (From Hub To Node) Captured on 03.24.06 at 19:26:20.225296099 Length =   291

------------  ETHER Header  ------------

ETHER: Destination: Edimax-37-E6-53 (00-00-B4-37-E6-53)

ETHER: Source: Cisco-09-A1-44 (00-00-0C-09-A1-44)

ETHER: Protocol: IP

ETHER: FCS: 27A652D2

------------  IP Header  ------------

IP: Version = 4

IP: Header length = 20

IP: Type of service = 0

IP:     000. .... Precedence = Routine(0)

IP:     ...0 .... Delay = Normal (0)

IP:     .... 0... Throughput = Normal (0)

IP:     .... .0.. Reliability = Normal (0)

IP: Packet length = 273

IP: Id = 7

IP: Fragmentation Info = 0x0000

IP:     .0.. ....  .... .... Don't Fragment Bit = FALSE

IP:     ..0. ....  .... .... More Fragments Bit = FALSE

IP:     ...0 0000  0000 0000 Fragment offset = 0

IP: Time to live = 255

IP: Protocol = UDP (17)

IP: Header checksum = F1E7

IP: Source address = 128.100.100.30

IP: Destination address = 128.100.100.6

------------  UDP Header  ------------

UDP: Source port = 41360

UDP: Destination port = 1026

UDP: Length = 253

UDP: Checksum = C220

------------  TFTP Header  ------------

TFTP: Opcode = Data (3)

TFTP: Block number = 7

TFTP: 241 bytes of data

Record #37      (From Hub To Node) Captured on 03.24.06 at 19:26:20.226034499 Length =    64

------------  ETHER Header  ------------

ETHER: Destination: Cisco-09-A1-44 (00-00-0C-09-A1-44)

ETHER: Source: Edimax-37-E6-53 (00-00-B4-37-E6-53)

ETHER: Protocol: IP

ETHER: FCS: 3AE958F2

------------  IP Header  ------------

IP: Version = 4

IP: Header length = 20

IP: Type of service = 0

IP:     000. .... Precedence = Routine(0)

IP:     ...0 .... Delay = Normal (0)

IP:     .... 0... Throughput = Normal (0)

IP:     .... .0.. Reliability = Normal (0)

IP: Packet length = 32

IP: Id = 8d

IP: Fragmentation Info = 0x0000

IP:     .0.. ....  .... .... Don't Fragment Bit = FALSE

IP:     ..0. ....  .... .... More Fragments Bit = FALSE

IP:     ...0 0000  0000 0000 Fragment offset = 0

IP: Time to live = 64

IP: Protocol = UDP (17)

IP: Header checksum = B153

IP: Source address = 128.100.100.6

IP: Destination address = 128.100.100.30

------------  UDP Header  ------------

UDP: Source port = 1026

UDP: Destination port = 41360

UDP: Length = 12

UDP: Checksum = 914B

------------  TFTP Header  ------------

TFTP: Opcode = Ack  (4)

TFTP: Block number = 7

